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DUMPSQUEEN

QUESTION NO: 1

Which must be true in order to use a delegation connector to connect two components?

A. One component must be part of the internal realization of the other component.

B. The components must have complex ports.

C. The components must be related to each other via a dependency.

D. One component must be a subtype of the other.

ANSWER: A

QUESTION NO: 2

CORRECT TEXT

Which is a correct representation of multiple extension and generalization/specialization?

(Choose two)

wstereotypes

ustereotypes |
| 51

52

ustereotypes»
s

A, Sextends S1 and 52

ametaclass»
C

ustereotype»
s2

ustereotypey

ustereotypen ‘
52

51

astereotypes
S

B. Secxtends S1 and generalizes S2

ustereotype»
1

ustereotype»
52

astereotypex
S

C. Sspecializes S1 and extends C

asterectypen
S

D. Sspecializes 31 and 52
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A. Option A
B. Option B
C. Option C

D. Option D

ANSWER: CD

QUESTION NO: 3

What is correct about a profile? (Choose two)

A. is applied to a package

B. can dynamically change its reference metamodel
C. cannot be used without its reference model

D. is applied to a reference metamodel

ANSWER: AC

QUESTION NO: 4

What does an activity partition contain? (Choose two)
A. lifelines B. states

. Classes

. edges

. hodes

m O O W

. messages

ANSWER: CD

QUESTION NO: 5

What statements are true about a composite structure? (Choose two)
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A. The behavior of a structured classifier must be completely defined through the collaboration of owned or referenced
instances.

B. A structured classifier is also an encapsulated classifier.
C. Structured classifiers cannot contain instances of structured classifiers.
D. Collaborations are structured classifiers.

E. Destroying an instance of a structured classifier normally destroys instances of its parts.

ANSWER: D E

QUESTION NO: 6

For what does an interaction operator define semantics?
A. a particular interaction fragment

B. a particular interaction

C. a particular message

D. a particular combined fragment

ANSWER: D

QUESTION NO: 7

What indicates an artifact instance in UML notation? (Choose two)
A. class box with two smaller rectangles on its left side

. <> keyword

. memo box

. single sheet icon with a folded-over corner

m O O W

. syntactically well-formed file name

ANSWER: B D
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QUESTION NO: 8

What most accurately describes the semantics modeled by the exhibit?

«component»
Invoicer '

«realizations»
HeaderGenerator
LineltemGenerator |

A. Invoicer realizes HeaderGenerator and LineltemGenerator.
B. HeaderGenerator and LineltemGenerator are Invoicer ports.
C. An Invoicer component is composed of a HeaderGenerator component and a LineltemGenerator component.

D. HeaderGenerator and LineltemGenerator realize Invoicer.

ANSWER: D

QUESTION NO: 9

What is permitted for the profile mechanism?
A. removes existing metamodels

B. extends existing metamodels

C. changes existing metamodels

D. creates new metamodels

ANSWER: B

QUESTION NO: 10
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What interface restrictions does a port have?

A. exactly one required interface and exactly one provided interface
B. multiple provided interfaces and multiple required interfaces

C. multiple required interfaces or multiple provided interfaces

D. exactly one provided interface or exactly one required interface

E. equal numbers of provided interfaces and required interfaces

ANSWER: B
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